



St. Louis County, Minnesota

Date of Report: 12/14/2025 12:32:46 PM

**General Details** 

Parcel ID: 141-0050-07159 Document: Abstract - 01222166

**Document Date:** 08/15/2013

**Legal Description Details** 

Plat Name: HIBBING

> Section **Township** Range Lot **Block** 36 21

57

Description: S 5 AC OF SE 1/4 OF NE 1/4

**Taxpayer Details** 

**Taxpayer Name** BRYANT RICHARD M

and Address: 5085 1ST AVE

HIBBING MN 55746

**Owner Details** 

**Owner Name** BRYANT RICHARD M

Payable 2025 Tax Summary

2025 - Net Tax \$500.00

2025 - Special Assessments \$0.00

\$500.00 2025 - Total Tax & Special Assessments

#### **Current Tax Due (as of 12/13/2025)**

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$250.00	2025 - 2nd Half Tax	\$250.00	2025 - 1st Half Tax Due	\$270.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$262.50	
2025 - 1st Half Penalty	\$20.00	2025 - 2nd Half Penalty	\$12.50	Delinquent Tax		
2025 - 1st Half Due	\$270.00	2025 - 2nd Half Due	\$262.50	2025 - Total Due	\$532.50	

**Parcel Details** 

Property Address: 5085 1ST AVE, HIBBING MN

School District: 701 **Tax Increment District:** 

Property/Homesteader: BRYANT, RICHARD M

Assessment Details (2025 Payable 2026)										
Class Code (Legend)										
201	1 - Owner Homestead (100.00% total)	\$10,000	\$25,800	\$35,800	\$0	\$0	-			
207	0 - Non Homestead	\$17,000	\$10,900	\$27,900	\$0	\$0	-			
	Total:	\$27,000	\$36,700	\$63,700	\$0	\$0	564			





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:32:46 PM

**Land Details** 

Deeded Acres: 5.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: P - PUBLIC

Gas Code & Desc:

Sewer Code & Desc: P - PUBLIC Lot Width: 0.00 Lot Depth: 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

ιτps	s://apps.stiouiscountymn.	gov/webPlatsiframe/	rmPlatStatPop	Up.aspx. if t	nere are any quest	tions, piease email Propert	y i ax@stiouiscountymn.gov.
			Improve	ement 1 D	etails (HOUSE	≣)	
ı	Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
	HOUSE	1900	71	2	712	-	RAM - RAMBL/RNCH
	Segment	Story	Width	Length	Area	Found	ation
	BAS	1	8	17	136	SHALLOW FO	DUNDATION
	BAS	1	24	24	576	SHALLOW FO	DUNDATION
	DK	0	8	10	80	POST ON	GROUND
	SP	1	7	10	70	PIERS AND	FOOTINGS
	Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC
	1.0 BATH	1 BEDROO	M	4 ROO	MS	0	CENTRAL, GAS
			Improvem	ent 2 Det	ails (MBL HO	ME)	

						··· <b>-</b> /	
Ir	nprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc
N	MANUFACTURED HOME	1970	1,2	32	1,232	-	SGL - SGL WIDE
	Segment	Story	Width	Length	Area	Found	ation
	BAS	1	16	77	1,232	PIERS AND I	FOOTINGS
	CW	1	4	16	64	PIERS AND I	FOOTINGS
	DK	1	4	4	16	PIERS AND I	FOOTINGS
_	Bath Count	Bedroom Co	ount	Room C	Count	Fireplace Count	HVAC
	1 BATH	2 BEDROOI	MS	-		-	CENTRAL, GAS

	improven	ient 3 De	talis (ST SHEDS	7)	
Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
2002	28	4	320	-	-
Story	Width	Length	Area	Foundat	ion
1	10	14	140	POST ON GF	ROUND
1.2	12	12	144	POST ON GF	ROUND
	2002 <b>Story</b> 1	Year Built Main Flo 2002 28 Story Width 1 10	Year Built         Main Floor Ft ²           2002         284           Story         Width         Length           1         10         14	Year Built         Main Floor Ft ²         Gross Area Ft ²           2002         284         320           Story         Width         Length         Area           1         10         14         140	2002         284         320         -           Story         Width         Length         Area         Foundat           1         10         14         140         POST ON GR

Improvement 4 Details (2 FABRIC)										
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.				
MULTIPLE STOREAGE BUILDINGS	0	624	4	624	-	-				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	0	13	24	312	POST ON G	ROUND				





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:32:46 PM

			(ED ( !!	(0)(0,07)			
Improvement Tv	pe Year Bui	-	ement 5 Details	•	sement Finish	Style (	Code & Desc.
Improvement Ty STORAGE BUILD		it iviain Fi 7:		72	sement rinish	Style	ode & Desc.
Segme			 Length	Area	Founda	ntion	<u>-</u>
BAS		•	g 9	72	POST ON G		
LT	, 0	_	8	32	POST ON G		
LI					1 001 011 0	J. (0014B	
		•	ement 6 Details				
Improvement Ty					sement Finish	•	Code & Desc.
0	0	23		236	-		BRICK
Segm		•	Length	Area	Founda	ation	
BAS		_	10	60	-		
BAS	S 0	8	22	176	-		
		Sales Reported	to the St. Loui	is County Audito	or		
s	ale Date		Purchase Price		CR	V Number	
(	08/2013		\$52,000		:	202682	
		Α	ssessment His	tory			
	Class				Def	Def	
Year	Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity
i eai	201	\$9,500	\$26,900	\$36,400	\$0	\$0	- Capacity
2024 Payable 2025	207	\$16,000	\$15,700	\$31,700	\$0	\$0	_
2024 Payable 2025	Tota		\$42,600	\$68,100	\$0	\$0	614.00
	201	\$9,500	\$26,200	\$35,700	\$0	\$0	-
2002 Davishla 2004	207	\$16,000	\$15,300	\$31,300	\$0	\$0	_
2023 Payable 2024	Tota		\$41,500	\$67,000	\$0	\$0	605.00
		. ,			*-		
	201	\$9,000	\$18,700	\$27,700	\$0	\$0	-
2022 Payable 2023	207	\$15,200	\$10,900	\$26,100	\$0	\$0	-
	Tota	al \$24,200	\$29,600	\$53,800	\$0	\$0	492.00
	201	\$9,000	\$16,400	\$25,400	\$0	\$0	-
2021 Payable 2022	207	\$15,200	\$9,600	\$24,800	\$0	\$0	-
	Tota	al \$24,200	\$26,000	\$50,200	\$0	\$0	462.00
		•	Γax Detail Histo	ory			
			Total Tax &				
Tax Year	Tax	Special Assessments	Special Assessments	Taxable Land M	Taxable Buil V MV		ıl Taxable MV
2024	\$626.00	\$0.00	\$626.00	\$21,700	\$31,020		\$52,720
2023	\$574.00	\$0.00	\$574.00	\$20,600	\$22,120		\$42,720
2022	\$548.00	\$0.00	\$548.00	\$20,600	\$19,440		\$40,040
	ψο 10.00	Ψ0.00	ψοπο.σσ	Ψ20,000	ψ10,440	·	Ψ 10,0 10





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:32:46 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.